## UT ADMINISTRATION OF DAMAN & DIU OFFICE OF THE HEAD OF SPORTS, SPORTS DEPARTEMENT, NEAR FOOTBALL GROUND, MOTI DAMAN – 396 220

No.DMN/SPORTS/GYM/2012-13/331

Date: - 15/01/2013.

## TENDER NOTICE

On behalf of the President of India, Head of Sports, Daman hereby invites E-Tenders for supply and Installation of Gym Equipment at Sports Club Moti Daman from the Manufacturer/ Authorized dealer worth ₹ 29 lakhs approximately from eligible contractors and who have carried out similar nature of works. Tenderers have to submit the tender documents along-with an EMD & Tender fees in the form of DD/FDR of any Nationalized Bank drawn in favour of Head of Sports, Daman, as scan document on web site and also in hard copy.

Estimated cost (approximately): - ₹ 29,00,000/-Earnest money:- ₹ 73,000/-Tender Fees :- ₹ 1,000/- & Time of completion: - 21 days.

The tender document& other details will be available on <u>https://www.nprocure.com</u> upto 15/01/2013. Tender notice can also be seen at web site <u>www.daman.nic.in</u>. Bidder have to submit price bid in electronic format only on <u>www.nprocure.com</u> till the last date and time for submission. Price bid in physical format shall not be accepted in any case.

Last Date and time for download of tender documer	nts		
	05/02/2013	upto	18.00
hrs			
Date and time of closing of bid			
(i.e. last date of submission of bid online).	05/02/2013	upto	18.00
hrs.			
Date and time for submission of detail			
proposal in hard copy.	05/02/2013	upto	15.00
hrs.		-	
Technical bid opening.	06/02/2013	at 11.0	0 hrs.
Financial Bid opening.	06/02/2013	at 16.0	0 hrs.
	hrs Date and time of closing of bid (i.e. last date of submission of bid online). hrs. Date and time for submission of detail proposal in hard copy. hrs. Technical bid opening.	hrs Date and time of closing of bid (i.e. last date of submission of bid online). 05/02/2013 hrs. Date and time for submission of detail proposal in hard copy. 05/02/2013 hrs. Technical bid opening. 06/02/2013	hrs Date and time of closing of bid (i.e. last date of submission of bid online). 05/02/2013 upto hrs. Date and time for submission of detail proposal in hard copy. 05/02/2013 upto hrs. Technical bid opening. 06/02/2013 at 11.0

The Department reserves the right to reject any or all tenders without assigning any reason and selection shall be at the absolute discretion of the Department and Department's decision in this respect shall be final and binding.

> Sd/-Head of Sports, Daman.

SR.				
No.	DESCRIPTION OF GOODS	QTY. UNIT	RATE	AMOUNT RS.
1	CARDIO EQUIPMENTS Motorized Treadmill with 4 HP AC Treadmill duty Motor. Maximum user weight – 180 kgs. Hybrid Drive control system Running Surface – W 540 x L 1560mm Belt & Deck – Pre-lubricant belt and double sided deck Power sources – 220V, 120V (50/60Hz) Warranty – 3 years (Frame 7 Years / LDC panel 2 years) Absorbing Systems – Stress Neutralization	2.00 Nos.	0.00	0.00
2	Systems. <b>Upright Exercise Bike</b> Maximum User weight – 150 kgs. Hybrid control system Program – 16 preset programs, Fit test program Integrated touch heart rate systems dual and polar telemetry receiver Warranty – 3 years Display – white FND+Alpha Numeric 8x16 dotmatrix, 12 FND, 12 Blue LED indicator	1.00 Nos.	0.00	0.00
3	Elliptical Trainer Maximum User weight – 180 kgs. Hybrid control system Program – 16 preset programs, Fit test program Integrated touch heart rate systems dual and polar telemetry receiver Warranty – 3 years Display – white FND+Alpha Numeric 8x16 dotmatrix, 12 FND, 12 Blue LED indicator	1.00 Nos.	0.00	0.00
4	Recumbent Bike Maximum User weight – 150 kgs. Hybrid control system Program – 16 preset programs, Fit test program Integrated touch heart rate systems dual and polar telemetry receiver Warranty – 3 years Display – white FND+Alpha Numeric 8x16 dotmatrix, 12 FND, 12 Blue LED indicator	1.00 Nos.	0.00	0.00

<ul> <li>5 STRENGTH EQUIPMENTS</li> <li>Pec Deck with Rear Delt - Dual Machine -</li> <li>200 Lbs. Standard Weight Stack</li> <li>Dimension – 69" H x 57" L x 34" W.</li> <li>Main Frame - 11 Guage 2.375" X 4.625" Oval Tubing</li> <li>Cables – spun Steel Aircraft cables - 5.5mm diameter rated over 2500 lb.</li> <li>Pads – 2" of DuraFirm high density foam, tear resistant, extra thick and ultra comport</li> </ul>	1.00 Nos.	0.00	0.00
<ul> <li>6 Leg Extension &amp; Leg Curl - Dual machine <ul> <li>200 Lbs. Standard Weight Stack</li> <li>Main Frame - 11 Guage 2.375" X 4.625" Oval Tubing</li> <li>Cables – spun Steel Aircraft cables - 5.5mm diameter rated over 2500 lb.</li> <li>Pads – 2" of DuraFirm high density foam, tear resistant, extra thick and ultra comport</li> </ul> </li> </ul>	1.00 Nos.	0.00	0.00
<ul> <li>7 Seated Leg Press with Calf Extension – Dual Machine <ul> <li>200 Lbs. Standard Weight Stack</li> <li>Main Frame - 11 Guage 2.375" X 4.625" Oval Tubing</li> <li>Dimensions – 41" W x 78" L x 77" H</li> <li>Cables – spun Steel Aircraft cables - 5.5mm diameter rated over 2500 lb.</li> <li>Pads – 2" of DuraFirm high density foam, tear resistant, extra thick and ultra comport</li> </ul> </li> </ul>	1.00 Nos.	0.00	0.00
<ul> <li>8 Multi Press (Shoulder Press with Chest Press) Dual Machine <ul> <li>200 Lbs. Standard Weight Stack</li> <li>Main Frame - 11 Guage 2.375" X 4.625" Oval Tubing</li> <li>Dimensions - 57" W x 89" L x 62" H</li> <li>Cables - spun Steel Aircraft cables - 5.5mm diameter rated over 2500 lb.</li> <li>Pads - 2" of DuraFirm high density foam, tear resistant, extra thick and ultra comport</li> </ul> </li> </ul>	1.00 Nos.	0.00	0.00

<ul> <li>9 Cable Crossover Machine with weight</li> <li>20 independent height adjustments and 180</li> <li>ounce cable positioning</li> <li>2 x 160lbs standard weight stack,</li> <li>4.8 mm diameter spun steel aircraft cables rated to over 2500 lbs.</li> <li>Dimensions – 83.5" H x 164" L x 29" W</li> <li>2" x 4" oval tubing with an electostatically applied power coat finish</li> </ul>	1.00 Nos.	0.00	0.00
<ul> <li>10 Vertical Chest press machine with Lat Pulley - Dual Machine <ul> <li>200 Lbs. Standard Weight Stack</li> <li>Main Frame - 11 Guage 2.375" X 4.625" Oval Tubing</li> <li>Dimensions – 41" W x 83" L x H (104cm x 214cm x 211cm)</li> <li>Cables – spun Steel Aircraft cables - 5.5mm diameter rated over 2500 lb.</li> <li>Pads – 2" of DuraFirm high density foam, tear resistant, extra thick and ultra comport</li> </ul> </li> </ul>	1.00 Nos.	0.00	0.00
<ul> <li>11 AB Crunch with Back Extension - Dual Machine</li> <li>200 Lbs. Standard Weight Stack</li> <li>Main Frame - 11 Guage 2.375" X 4.625" Oval Tubing</li> <li>Dimensions - 51" W x 43" L x 62" H.</li> <li>Cables - spun Steel Aircraft cables - 5.5mm diameter rated over 2500 lb.</li> <li>Pads - 2" of DuraFirm high density foam, tear resistant, extra thick and ultra comport</li> </ul>	1.00 Nos.	0.00	0.00
<ul> <li>12 Bicep curl with Tricep Extension Dual Machine <ul> <li>200 Lbs. Standard Weight Stack</li> <li>Main Frame - 11 Guage 2.375" X 4.625" Oval Tubing</li> <li>Dimensions - 53" W x 40" L x 62" H.</li> <li>Cables - spun Steel Aircraft cables - 5.5mm diameter rated over 2500 lb.</li> <li>Pads - 2" of DuraFirm high density foam, tear resistant, extra thick and ultra comport</li> </ul> </li> </ul>	1.00 Nos.	0.00	0.00

<ul> <li>13 Smith Machine – with Counter Balance</li> <li>Main Frame - 11 Guage 2.375" X 4.625" Oval Tubing</li> <li>Dimensions – 86" W x 50" L x 84" H.</li> <li>Case hardened rods and high quality bearings</li> <li>Pads – 2" of DuraFirm high density foam, tear resistant, extra thick and ultra comport</li> </ul>	1.00 Nos.	0.00	0.00
14 Heavy duty Olympic multipurpose bench (Flat/Incline/Decline) Superior quality for commercial use	1.00 Nos.	0.00	0.00
15 Abdominal Board (Adjustable) Superior quality for commercial use	2.00 Nos.	0.00	0.00
<ul> <li>16 Rubber Coated Dumbbell Set (1kg,</li> <li>2.5kg, 5kg, 7.5kg, 10kg,) Total – 156 kgs - Superior quality for commercial use</li> </ul>	3.00 sets	0.00	0.00
17 Olympic Plates Rubber Coated (2.5kg, 5kg, 10kg, 12.5kg,) total – 180 kgs - Equivalent & Superior quality	3.00 sets	0.00	0.00
18 Olympic Barbell 05 feet - Superior quality for commercial use	1.00 Nos.	0.00	0.00
19 Olympic Barbell 4 feet – Superior quality for commercial use	2.00 Nos.	0.00	0.00
20 3 Tire Horizontal Dumbbell Rack - Superior quality for commercial use Dimensions – 30" H x 20" L x 40"H	2.00 Nos.	0.00	0.00
21 Tree Shape Barbell Stand - Superior quality for commercial use	1.00 Nos.	0.00	0.00
22 AB King Pro - Superior quality for commercial use	1.00 Nos.	0.00	0.00
23 Digital Weighting machine – Platform Type - Superior quality for commercial use	1.00 Nos.	0.00	0.00
24 Hip Twister – Superior quality for commercial use	1.00 Nos.	0.00	0.00
25 Seated Rower – Superior quality for commercial use	1.00 Nos.	0.00	0.00

No. DMN/SPORTS/GYM/2010-11/ UT Admn. Of Daman & Diu. Sports Department, Near Football Ground, Moti Daman – 396 220

Dated : - 10.01.2013.

## TENDER NOTICE

## \*\* Terms and Conditions for Supply of Gym equipments.

Sealed tender is hereby invited by the Sports Department, Daman for supply of Gym equipments as per Schedule – B attached from the reputed brands i.e. Stex/Johnson/Matrix/Body Solid/ISO Solid/Plamax/Impulse/Cybex/ TuffStff for the use of Sports Department., Daman with the following conditions:

- The tender should be in a sealed envelope subscribed as " Supply & Installation of Gym equipments at Daman Sports Club, Moti Daman. "
- The Tender Form along with Terms and Conditions can be obtained from the website <u>www.daman.nic.in</u> and daman.nprocure.com.
- The rate(s) quoted should be strictly for free delivery at Daman. No extra charge for packaging, forwarding and insurance, transportation etc. will be paid.
- 4. Only Sales Tax / VAT will be paid on the items on which it is chargeable under the Central Sales Tax Act / VAT Act or the Rules made there under.
- 5. Copy of the Sales Tax Registration should be attached to tender.
- 6. The bidder should submit the proof of annual turnover of ₹ 25,00,000.00 and above per annum for Sports / Gym equipments for the last three years. The tender received without or below annual turnover of ₹ 25,00,000.00 will not be accepted.
- The rate(s) should be quoted only for the items specified in the list of requirement and should be for the items of given special make / manufacture.
- 8. Rate(s) quoted for items other than the required specification/make/manufacture may not be considered.
- 9. The Sports Department, Daman will be at liberty to accept the tender for the entire quantity or the part thereof at the rates submitted by the bidder or at reduced rate during the negotiations if any.
- **10.** Where specification/make/Manufacture is not specified by this office, the rate(s) should be quoted only for the standard quality.
- The tenderer should specify the name of the manufacturer for the items quoted by him along with catalogue of the items.

- 12. The tender should be neatly typed carrying the name of supplier and the signature of the tenderer. No overwriting, correction or erasing will be considered.
- 13. Items supplied by the successful tenderer shall be randomly checked & verified by the Tender inviting Officer through Departmental staff/authorized staff. Acceptance item shall be strictly subject to satisfaction of the verifying authority. The item which are not found as per specification given in the tender will be directly rejected and the same has to be replaced by the cost of the tenderer.
- Payment shall be made only after acceptance of items and verification by the authority.
- 15. The Earnest Money Deposit (E.M.D) of ₹ 73,000.00 is payable with the tender in form of Demand Draft issued by the Scheduled Bank in favour of Head of Sports, Moti Daman. Tender received without EMD will be treated as invalid.
- 16. The amount of Earnest Money Deposit paid by the Tenderer(s) whose tenders are not accepted will be refunded to them within 05 days.
- 17. The Successful tenderer shall have to deposit 5% of Tender amount as security deposit by Demand Draft or in the form of Bank Guarantee of Nationalized Bank and shall have to sign a contract with Head of Sports as per rules within 15 days after receipt of order. The EMD paid by the successful tenderer will be adjusted towards Security Deposit.
- 18. The tender schedule shall be signed at the bottom of the each and every page by the tenderer as the case may be with rubber stamp and date.
- In case of successful tenderer, who decline to accept the contract order, the EMD will be forfeited and the concerned agency will be blacklisted.
- 20. Delayed tenders, post tenders offers received after closing of tenders wil summarily be rejected. No responsibility will be accepted for delays in postal transit.
- Bidder shall have to submit the name of Bank, Name of branch with the address, A/c No. and MICR No.
- 22. The items specified in the tender form should be supplied at the site of the Sports Department, Near Football Gound, Moti Daman.
- **23.** The supply and installation should be executed within 21 days from the date of supply order, failing which EMD will be forfeited.
- 24. All bills should be in DUPLICATE and should invariable mention the number and date of supply order.
- 25. All bills for amount above ₹ 5,000.00 should be pre-receipted on a Revenue Stamp of proper value. Bills for amount exceeding ₹ 5,000.00 not pre-receipted on Revenue Stamp of proper value will not accepted for payment.
- 26. Each bill in which VAT is charged must contain the following certificate on the body of the bill.

"<u>CERTIFICATE that the goods on which Value Added Tax has been</u> charged have not been exempted under the Central Sale Tax Act or the <u>Rules made there under and the amount charged on account of Value</u> <u>Added Tax on these goods is not more than what is payable under the</u> <u>provisions of relevant Act or Rules made there under."</u>

**27.** In respect of any dispute given rise to the legal proceedings between the parties, the courts at Daman shall alone have the Jurisdiction.

Sd/ Head Of Sports Daman.

THE ABOVE CONDITIONS ARE ACCEPTED AND ARE BINDING TO ME/US

( Signature of Supplier / Tenderer) Date & Rubber Stamp.

NOTE :- Please return one copy of these conditions duly signed along with your tender/quotations.